N4 4

VIA WET SURFACE MOUNT + TOP FEED - INSTALLATION INSTRUCTIONS

NOTE: Wire dimming conductors as Class 1

WWW.LUMENWERX.COM

SINGLE FIXTURE

Tamper-resistant pin-in-hex bit, 5/32" Remove the nuts (B) and the washers (C) (that are

. o . Make sure the power is turned off. Unscrew and steel +rubber bonded together) inside the fixture
is REQUIRED to perform the installation. lower the lens frame (A) retained by security (D). Put them in a safe place. Finally remove the
cables. screws (E) that won't be needed anymore.

Connect the 1/2" trade size liquid-tight conduit —
fitting (by others) (G) to the 7/8" hole provided. Fasten fixture (D) to threaded stud (H) using

Mark the mounting point location (F) where the Make sure the fitting is well tightened. washers (C) (that are steel + rubber bonded
fixture is going to be installed according to the A nonmetallic liquid-tight flexible conduit system together) and nuts (B). Make sure the 1/4"-20 nuts
dimensions [*] supplied in client drawings. needs to be used (by others). are well tightened.

www.lumenwerx.com (T) 514-225-4304 (F) 514-931-4862 © All rights are reserved to LumenWerx ULC. FILE NAME:VIAWET-SURFACE-TOP-FEED-MOUNT-INST November 16,2019 Page:1/4 c@u&

LumenWerx ULC. reserves the right to change or modify product specifications without notification Intertek



\ 4
VIA WET SURFACE MOUNT + TOP FEED - INSTALLATION INSTRUCTIONS S

WWW.LUMENWERX.COM

n CONTINUOUS SYSTEM

Screw back in place the lens frame (A) making
sure not pinching the security cables on the sides.

Make the electrical connections between the Make sure all the screws are well tightened and Mark the mounting point location (F) where the
fixture wires (I) and the building wires (J) inside the metal frame is slightly regressed inside the fixture is going to be installed according to the
the fixture. aluminum housing. dimensions [*] supplied in client drawings.

(@
MK\&“]

Remove the nuts (B) and the washers (C) (that are
steel +rubber bonded together) inside the fixture

Unscrew and lower the lens frame (A)_ retained by (D). Put them in a safe place. Finally remove the Unscrew and remove nuts (K) on the outside of the
security cables. Repeat for all fixtures in the run. screws (E) that won't be needed anymore. joiner (L). Put the nuts (K) in a safe place.
www.lumenwerx.com (T) 514-225-4304 (F) 514-931-4862 © All rights are reserved to LumenWerx ULC. FILE NAME:VIAWET-SURFACE-TOP-FEED-MOUNT-INST November 16,2019 Page:2/4 c €Ib us

LumenWerx ULC. reserves the right to change or modify product specifications without notification Intertek



\ 4
VIA WET SURFACE MOUNT + TOP FEED - INSTALLATION INSTRUCTIONS S

WWW.LUMENWERX.COM

Connect the 1/2" trade size liquid-tight conduit —
fitting (by others) (G) to the 7/8" hole provided. Fasten the first fixture (D) to threaded stud (H)

Make sure the fitting is well tightened. A using washers (C) (that are steel + rubber bonded Make the electrical connections between the
nonmetallic liquid-tight flexible conduit system together) and nuts (B). Make sure the 1/4"-20 nuts fixture wires (I) and the building wires (J) inside
needs to be used (by others). are well tightened. the fixture.

P!
. M

16
‘

—_— _
P —

Locate mounting points (F) of the second fixture

(M) and push the wires inside the first fixture Fasten the second fixture (M) to threaded stud (H) Reinstall the screws (K) inside the second fixture
(D) through the end cap holes. Align the second using washers (C) (that are steel +rubber bonded (M) on the joiner to secure it. Tighten well the 2
fixture (M) to the screws of the joiner of the first together) and nuts (B). Make sure the 1/4"-20 nuts joining screws and make sure the joining gasket is
fixture (D) and install it. are well tightened. well compressed between the 2 end-caps.

November 16,2019 Page:3/4 c €Ib us

LumenWerx ULC. reserves the right to change or modify product specifications without notification Intertek

www.lumenwerx.com (T) 514-225-4304 (F) 514-931-4862 © All rights are reserved to LumenWerx ULC. FILE NAME:VIAWET-SURFACE-TOP-FEED-MOUNT-INST




\ 4
VIA WET SURFACE MOUNT + TOP FEED - INSTALLATION INSTRUCTIONS S

WWW.LUMENWERX.COM

Screw back in place the lens frame (A) making
sure not pinching the security cables on the sides.
Make sure all the screws are well tightened and

Make the wires connection between (D) and (M) the metal frame is slightly regressed inside the
using quick connectors (N). aluminum housing.
www.lumenwerx.com (T) 514-225-4304 (F) 514-931-4862 © All rights are reserved to LumenWerx ULC. FILE NAME:VIAWET-SURFACE-TOP-FEED-MOUNT-INST November 16,2019 Page:4/4 c €Ib us

LumenWerx ULC. reserves the right to change or modify product specifications without notification Intertek



